
基礎学力講座＜数学＞ ★★★ ２ｎ表の活用 ★★★         〔 〕年〔 〕組〔 〕番 氏名〔            〕   
【１】次の表を完成せよ。 
ｎ ２ｎ ｎ ２ｎ ｎ ２ｎ 
1 2 26 67108864 0  1
2 4 27 134217728 -1 0.5 
3 8 28 268435456 -2 0.25 
4 16 29 536870912 -3 0.125 
5 32 30 1073741824 -4 0.0625 
6 64 31 2147483648 -5 0.03125 
7 128 32 4294967296 -6 0.015625 
8 256 33 8589934592 -7 0.0078125 
9 512 34 17179869184 -8 0.00390625 

10 1024 35 34359738368 -9 0.001953125 
11 2048 36 68719476736 -10 0.0009765625 
12 4096 37 137438953472 -11 0.00048828125 
13 8192 38 274877906944 -12 0.000244140625 
14 16384 39 549755813888 -13 0.0001220703125 
15 32768 40 1099511627776 -14 0.00006103515625 
16 65536 41 2199023255552 -15 0.000030517578125 
17 131072 42 4398046511104 -16 0.0000152587890625 
18 262144 43 8796093022208 -17 0.00000762939453125 
19 524288 44 17592186044416 -18 0.000003814697265625 
20 1048576 45 35184372088832 -19 0.0000019073486328125 
21 2097152 46 70368744177664 -20 0.00000095367431640625 
22 4194304 47 140737488355328 
23 8388608 48 281474976710656 
24 16777216 49 562949953421312 
25 33554432 50 1125899906842624 

 
 指数法則 
  

 
【２】上の２ｎ表と指数法則を使って、次の計算をせよ。 

(1) 281474976710656 ==×=× 48444 2221644161759218604

 
(2) ＝250004882812.01073741824 ÷ 30÷2-11＝241＝2199023255552 

 
(3) ＝256 671088641250001220703.0553281407374883 ÷×
 
(4) ＝70368744177664 417179869180009765625.04 ×÷
 

(5) ＝274877906944 32 )8906250000152587.0()2088796093022( ×

 

(6) ＝4398046511104 345 )524288()03125.0()0078125.0( ×÷

 

(7) 
838860833554432
2097152)262144( 2

×
×

＝512 

 

(8) 
64001953125.0134217728

0625.072137438953416384
×÷

÷×
＝8192 

 

(9) 268435456419430466871947673 ÷× ＝32768 

 

(10) 53687091213107256250000610351.0 ×÷ ＝0.5 
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104857600390625.0
655368
×

×
＝32 

 

(12) 
167772164294967296015625.0

8426241125899906250002441406.07761099511627
×÷
÷×

＝0.0625 


